ACT Practice Test							Name: _________________________
	

Directions: Put all answers on your scantron sheet. You may do work on scrap paper. 
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‘What percent of 24 is 187

F. 75%
G. 150%
H,

L 25%

I

K. 13319
3




image9.png
How many curtains can be made from 20 meters of
cloth if each curtain requires 2. meters?

A. 50
B. 20
C. 12
D. 8
E. 4
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‘What is the simplified form of
2v—{3x-20x - (1-91)?

F.

G.
H. —4x-1
K.
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Which of the following numbers is NOT prime?
43

s1

73

97

101

ApaRpy
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Which of the following is a secant line?

. Segment BC
. Segment AD
. LineAC
J. LineE

. Segment AB
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Ifx=-2and y =3, then —x - xy*

16
34
38
20

144
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‘What is an equivalent expression, in simplest
radical form, to Vaab* V/12a%*?

A. 2ab¥/6a'h

B. Vasah'

c. Vasab

D. 160

E. None of these
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Which of the following is NOT a quadratic
equation in one variable?

AEEER





image16.png
What is the simplified form of the expression
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If 2 less than five times a certain number is 1 more
than twice the same number, which equation can be
used to find the number?

S(x-2)=2+1)
Sr+1 2
2-5x=1+2¢
Sx-2=2x+1
S(x-2)=2x+1

bl kel




image18.png
The diameter of a circle is one side of a triangle,
and the third vertex is on the circle. What kind of
riangle is formed?

A. Isosceles
B. Right
C. Acute
D. Sealene
E. Equilateral
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‘Which of the following is equivalent to bx — 11 <37
F. x<4

G. x+1<3

H. -2<x<4

J. x<-2orx24

K. x<-2andx24
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In the rectangular coordinate system, the point
associated with the ordered pair (- 4, 0) is located
in which quadrant?

Al
B. I
C.
D. IV
E. None of these
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Which of the following ordered pairs satisfics the
equation3x - 2y = 57

(1,-1)

F.

G. (1,1)
H. (1,-1)
J.
K

L1
. (5,-5)
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In the diagram, lines 7 and n in a plane are cut by
transversal [, Which statement would allow, the
conclusion that m || n?

mi2=mzs3
ms2=ms6
ms5=ms3
ms2+ms4=180
msl=ms7
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If, in A ABC, BD is drawn so that AD = DC, then

what is BD?

reEQR

B

a b o

An angle bisector

An altitude

A median

A perpendicular bisector of AC
A transversal
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What is the sum of the fractions > and
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When completely simplified,

s
2 2%
3TFoIT2
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What is the value of log, 277

A3

L
°
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Ifsin @

. then cos @

G.

H.

i oI5 ol

=
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In & ABC, the length of AC is equal to the length
of BC. If the measure of ZA is 40°, what is the
measure of £.C?

wr

50°
60°
80°
100°
140°

mEoFs
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‘Which is the largest of the following numbers?

F. 3.1415926
2
7

314
3.1416

[}

FeE

Al these numbers are equal.
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If Joan’s English assignment is to read 80 pages,

and she has read % of her assignment, how many
pages does she have left to read?

A 16
B. 20
C: =32
D. 48
E. 64
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Which of the following is a pure imaginary
number?

F -4
G. -Va
H. V-4
Jo 342
K 8
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‘Which equation corresponds to the accompanying.
graph?

sl
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What is the solution set of the following system of
equations?

2x+y=-1
3x-2y=-19

{@2,-5))

{3,9)}

{C7,-Dy

There is no solution

There are infinitely many solutions.

[aial=i2hal
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What is the solution to this system of equations?
5x-2y=3
y=dx-3
{1y
{a, ny

{-1,-1y
{-1,-1)}
None of these

mEOR>
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Which expression would be appropriate to com-
plete the following equation in order for the equa-
tion to illustrate the identity property of additio
5+(7+0)=7

F (140)+5

G. 5+0+7)

H. (5+7)+0
I
K.

547
.12




image38.png
fa<bthenla-bl+a+b=

EOORP
2
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What is the set of prime factors of 6,4407

F. {2,516}
G. {2,7,23}
H. {2,5,7,23}
J. {2.57)
K. {2,3,220}
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Which of the angles below are supplementary?

HEORE

£ 6and £ 11
23,2 4,amd L5
Z3and 27
£8and 29
L2and 27
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What is the degree of the polynomial
36y + 517~ 1y?

mEOR>
RS




image43.png
What is the sum of the roots of 4x* + 3x—8 =07
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What s the value of 1677

A.
. 8

B.
C.
D.
E.

This is undefined.

1
8
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‘The trigonometric function sin 215° is equal to
which of the following?

A. sin35°

B. -cos35°
C. -cos55°
D. —sin55°

E. sin55°
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Which of the following is not a real number?
AL

B. -V23
c 2

Il
Epe




image46.png
In how many orders can 6 different books be
placed on a shelf?

F.

G.
L 12

H,
J
K.

1
6

36

. 720
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What is the value of 277

A4
B. -4

E. None of these
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Acircle and a semicircle have the same area. If
the circle has radius 1, what is the radius of the
semicircle?

REEQE
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What is the distance between (5, 3) and (-2, 4)?
V38

2V10

V58

5V2

V10

roEQR
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If a student reccived a score of 80% on a test in

‘which 60 ques

jons were answered correctly, how

many questions were on the test?

15
30
48
75
90
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7(10%) + 3(10°) + 2(10") + 9(10°) is the expanded
form of what number?

7329

70329
73029
73.209
73029

BEOFR>
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What is the value of 7* - 2[3 +2(5 - 1)]?

F 9

G. 940
H. 27
I 8
K. 9
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‘What is the solution set of 2x — 5 =7 — 4x?
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